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249 SR SioHEIL 89
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ekt =9 ekt =9 et =9
1. 2HoIA 28,681,652 B
7t Qo2 762,910 762,910 762,910 - -
Lt 2|50t Atdol FHe 568,346 568,346 568,346 - -
Ch. Z|5tet Aol 4y 677,445 677,445 677,445 - -
2f. Aj8k 2 | 4,552,200 4,552,200 4,552,200 - -
O 2|5t Hstof o5t HSFHE 8,363,503 8,363,503 8,363,503 - -
B, Z[gord 6,933,879 6,933,879 6,933,879 - -
Ab. A|5HQt 8 3,555,942 3,555,942 3,555,942 - -
of. 3¢ 7 1,827,072 1,827,072 1,827,072 - -
Af 2SS 2SI ZAL A7) 933,707 933,707 933,707 - -
at 22 506,648 506,648 506,648 - -
2. 24y 1,712,000 1,712,000
7t Qlafe 1,587,000 1,587,000 - 1,587,000 1,587,000
Lt ofH] 125,000 125,000 - 125,000 125,000
3. A A 21HolH| * 110% 31,549,817
47188 (RIMQIAB|+H|ZH]) * 20% 12,046,293
A 73,989,762




ol 9| o 7t
g A YLELR &
L 2| A 2 A
£ S g A
o It 3 «9 =1 =1
H1EH Qo2
= = 7] & 0.4 138,742 346,855 138,742 -
i) = 7] & 0.8 235,039 293,799 235,039 -
Z = 7] & 0.8 218,332 272,915 218,332 -
ES = 7] & 0.8 170,797 213,496 170,797 -
A 762,910 762,910
H2zE Z|SHEHEI} ChekAtiol JHe
= = 7] & 0.4 138,742 346,855 138,742 -
il = 7| & 0.8 235,039 293,799 235,039 -
Z = 7] & 0.4 109,166 272,915 109,166 -
z = 7| & 0.4 85,398 213,496 85,398 -
A 568,346 568,346
H3ZHE Z|SHPHE T} Chet RO
=, 2 7| = 0.0 - 346,855 - -
il = 7| & 0.4 117,520 293,799 117,520 -
Z = 7] & 0.8 218,332 272,915 218,332 -
ES = 7| & 1.6 341,594 213,496 341,594 -
A 677,445 677,445
Mazg 2|9t 2| HE
= = 7] & 1.2 416,226 346,855 416,226 -
il = 7| = 24 705,118 293,799 705,118 -
Z = 7] & 6.0 1,637,490 272,915 1,637,490 -
z = 7| & 8.4 1,793,366 213,496 1,793,366 -
A 4,552,200 4,552,200




AHSZH A|5h4- #Hat0] o5t e Y
= El 7l £ Af bl 8.4 2,913,582 346,855 2,913,582
a =] 7| £ A ol 1.2 352,559 293,799 352,559
5l El 7l £ A bl 16.8 4,584,972 272,915 4,584,972
ES =1 7| £ A ol 2.4 512,390 213,496 512,390
A 8,363,503 8,363,503
He=H AHotdy HE
= El 7l £ A ol 5.2 1,803,646 346,855 1,803,646
a =] 7| £ A el 52 1,527,755 293,799 1,527,755
5l El 7l £ A bl 13.2 3,602,478 272,915 3,602,478
ES =l 71 E At bl 0.0 - 213,496 -
A 6,933,879 6,933,879
H72 R AStordstE ot 8
= El 7l £ A bl 32 1,109,936 346,855 1,109,936
a =] 7| £ A ol 4.4 1,292,716 293,799 1,292,716
5l El 7l £ A bl 3.6 982,494 272,915 982,494
ES =] 7| £ A} ol 0.8 170,797 213,496 170,797
A 3,555,942 3,555,942
Hger SEEIIL EE
= El 7l £ A bl 1.6 554,968 346,855 554,968
a =1 7| £ A ol 1.6 470,078 293,799 470,078
5l El 7l £ A bl 2.0 545,830 272,915 545,830
= =] 7| £ A ol 1.2 256,195 213,496 256,195
Al 1,827,072 1,827,072
HOZH 2% A[SIAHUZAL A7]
= El 7l £ A bl 0.4 138,742 346,855 138,742
a =1 7| £ A el 0.8 235,039 293,799 235,039
5l El 7l £ A ol 0.8 218,332 272,915 218,332
ES =1 7| 3 A ol 1.6 341,594 213,496 341,594




A 933,707 933,707 -
H10sR B2
= = 7] & 2t ol 0.0 - 346,855 - - -
il 7l & 2t ol 0.4 117,520 293,799 117,520 - -
Z = 7] & 2t ol 0.8 218,332 272,915 218,332 - -
z = 7| & 2t ol 0.8 170,797 213,496 170,797 - -
A 506,648 506,648 -
H11SHE QIfH|
QI 5 1,587,000 - - 317,400 1,587,000
A 1,587,000 - 1,587,000
H125 8 ofH|
o] 5 125,000 - - 25,000 125,000
A 125,000 - 125,000
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